> A
A & 0l & AF 2 E A A
20209 &= =0l &t LBt FeX |
SN FRIXE D
Ha: =Xl 2E
9l XIS ASI =X CERED
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=0 X2t 52,257,370 45,599, 354 6,658,016
= 32,141,710
s 584,086
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< 5,767,406
s 13,501,871
SXoIg = 8,203,608 6,714,915 1,488,693
= 4,127,306
s 531,738
< 1,890,997
[ia 1,653,567
XS AE =X 3,268,786 2,625,052 643,734
= 905,988
s 531,738
< 527,974
[ia 1,303,086
XNAARSEX XA 127,342 97,505 29,837
201 Let24d] 11,715 8,215 3,500
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202 O4dl 13,680 13,680 0
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03 AIBFXH S =AY 3,000 2,000 1,000
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OBEYRFT AMFZZH| 1,000, 000& 1,000
301 LPEXZ 400 400 0
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OXNGMBEHE2AM 22 AT =4I
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OXSAEFEAH =24l 53,547,000 53,547
OgXImoi it XNJHE 2Fdl 15,000, 000& 15,000
11T M SXAISE EX 30,000 10,000 20,000
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O2HZEWIAAY 22l 10,000, 000& 10,000
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202 o4 H| 18,800 18,800 0
01 2Ll 18,800 18,800 0
OZ2XZAI 24 | 18,800,000 18,800
X GAS HEI A EXAE 759,625 702,751 56,874
Fag 531,738
& 68,366
= 159,521
201 LBt Y| 2,625 2,751 A\ 126
Fag 1,838
= 236
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01 AP 22| d| 2,625 2,751 N 126
OXNGAMIABIAEXNANE EE2E2 HE
2,625,000 2,625
Ry 1,838
& 236
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308 XHXIGH SO0l & 757,000 700,000 57,000
Fag 529,900
& 68,130
= 158,970
10 2| 2SHUSHE A XERAEASH] 757,000 700,000 57,000
OXEAMIAEIA EXAFY =&
757,000,000 757,000
= 529,900
= 68,130
= 158,970
A2 AMSIEXAE SAL LY X 970,300 999,700 A 29,400
& 388,120
= 582,180
307 2iz2to| A 970,300 999,700 A 29,400
& 388,120
= 582,180
10 MM SAANEEHESIGHEX 970,300 999,700 A 29,400
OMISXAIESAA W= 970,300,000& 970,300
o=t 388, 120
= 582,180
A 22X 828 X& 171,544 157,398 14,146
307 QI2t0| & 171,544 157,398 14,146
10 A SXNANEEHESIGHEX 132,244 120,598 11,646
OAZIEXEo3 29| 132,244,000 132,244
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Ha: =2x0|8 2E
&2 XNFAS =X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
11T M SRASE EX 39,300 36,800 2,500
OJ=FEWIAANY 23,000,000& 23,000
O0lSHIE ALY 9,000,000 9,000
O848 sSXEZEH 2,500,000& 2,500
OAMEISXIE2a SAX ML
4,800,000& 4,800
EZNSHM nsd AFEs AIA 2,314 2,250 64
< 2,314
101 @124 dl 2,314 2,250 64
< 2,314
4 D12t Z2XREES 2,314 2,250 64
O=F0stM DL XE dAEXo
2,313,290& 2,314
< 2,314
MI=2 A 2e 133,315 133,315 0
301 LEXZ 133,315 133,315 0
0B A =ERRAB LS 133,315 133,315 0
OMNsI=eRE FAY|
6,000& = 91 = 20 » 12& 131,040
OMI=R2R 243 25,0002 = 91H 2,275
MIER2HE XA 738,050 500,513 237,537
= 738,050
301 LPEAZ 738,050 500,513 237,537
= 738,050
B A ESRQRIELNS 711,450 479,335 232,115
OMA=ERE B+ 630,280,000 630,280
= 630,280
OMI=22F WSt 81,170,000& 81,170
= 81,170
12 JIEtE4 3 26,600 21,178 5,422
OAMA=E2E I=4| 26,600,000 26,600
= 26,600
AN =EXEES XNA(EX) 10,000 10,000 0
= 2,000
s 8,000
307 21201 A 10,000 10,000 0
< 2,000
s 8,000
11T ALSI S XAEE = 10,000 10,000 0
OAMII=XS & A 10,000, 000& 10,000
< 2,000
e 8,000
HASE 0IMEX 0tAa3 B 335,876 0 335,876
= 167,938
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X ZH -
L= B

el

5 - 4
H-H2 - B9 (3H) - HEAY - BA=S Ol &F o4 %Ei 2t
EEEEES=,
9,849%& * 5&H x 10Al2t + 128 5,910
2 2,955
o=t 886
2 2,069
OSEABIA AAH (BHIZIE) 142,280
B ELRS
,849% * 5H x 20AI2t x 128 11,819
|2 95,867,250 / 128 * 400% 31,956
-JIExd 20,000 * 359 * 12& 8,400
- EE x| 120,0008 = 5% * 12& 7,200
-HHZ A 130,000& * 5H x 128 7,800
-Z &S 0y| 600,000& * 5% * 23| 6,000
-XASOHAZ 50,000& = 5% = 128 3,000
2462 682,890 * 5 » 12& 40,974
-AXRassE 52,530 * HhH x 20 5,253
-5 78,795 x 5% x 12&€ 4,728
-JFAH B2 &l 505,000& * 5Y * 63| 15,150
Z2Z2MIEXNFTLHA HE (A2 SetAtel 22 XH) 13,200 13,200 0
= 6,600
& 1,320
= 5,280
101 Q1 24| 1,200 1,500 A300
= 600
= 120
= 480
03 RIAHL*ZZXHE = 1,200 1,500 A 300
OSE A ZelA 1208 & nsEAY|
1,200,000 1,200
= 600
& 120
= 480
201 £Bt24 | 6,000 5,700 300
= 3,000
= 600
= 2,400
01 AP 22| H| 6,000 5,700 300
OAMA 22 XNRAIYE LBt4==2H| 6,000,000& 6,000
= 3,000
= 600
= 2,400
301 dEtE M= 6,000 6,000 0
= 3,000
& 600
= 2,400
01 Al B & X 26 2 6,000 6,000 0




2N
X ZH -
L= B
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FoIXR D
=3x8 7
THoH 7=

B

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OAtddl 22l Ab | 6,000,000& 6,000
= 3,000
= 600
= 2,400
S22MI2XNTLHAH NE(SHS Y5 S& AU 75,600 75,600 0
A X
= 52,920
o 2,268
= 20,412
201 Bt 27,600 27,600 0
= 19,320
= 828
= 7,452
01 AP 22| H| 22,200 22,200 0
OAMA 22X AIE LBt4==2H| 22,200,000 22,200
= 15,540
= 666
= 5,994
02 2324 5,400 5,400 0
OAdl el XEAIYE 2229 5,400,000& 5,400
= 3,780
& 162
= 1,458
301 et N = 48,000 48,000 0
= 33,600
& 1,440
= 12,960
01 Al E & A 462 48,000 48,000 0
OAtddl 22| AF | 48,000,000 48,000
= 33,600
= 1,440
= 12,960
L=0 B & & 4,538,526 3,700,152 838,374
= 3,080,390
& 1,335,013
= 123,123
=0 25 19,200 19,200 0
201 LBt Y| 7,200 7,200 0
01 AP 22| d| 7,200 7,200 0
O2dD Al 2102 1,200,000& * 6H 7,200
307 212t0| & 12,000 12,000 0]
o1 o= 12,000 12,000 0
OL=0 RS 100,000 * 12& 1,200
ORADNX SOl the AlalA el 10,800,000 10,800
L=0lAld XK (2dH|) 4,103,636 3,455,452 648, 184
= 2,872,545
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Ha: =Xl 2E
Sl Lx0 25 U XK CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 1,231,091
301 et A= 4,089,350 3,441,166 648, 184
= 2,862,545
= 1,226,805
01 Al B & A 462 4,089,350 3,441,166 648, 184
OL=Q2 A4 XA (2HHI|) 4,089,350,000& 4,089,350
= 2,862,545
& 1,226,805
307 QI2t0| & 14,286 14,286 0
= 10,000
& 4,286
10 A EXNANEEHE2IGH EX 14,286 14,286 0
OL =0 A4 XA (ZZOH|) 14,286,000 14,286
= 10,000
& 4,286
L=0AE NFDsEY) 415,690 225,500 190, 190
= 207,845
= 103,922
= 103,923
402 BI2H X 20| M 415,690 225,500 190, 190
=2 207,845
= 103,922
= 103,923
02 CIZEXIEAIS EX (0| XM THL) 415,690 225,500 190, 190
OE=Q2A4d NFEDsEY) 415,690,000 415,690
= 207,845
=} 103,922
= 103,923
g&:ze 1,467,994 1,455,034 12,960
& 75,840
= 1,392,154
222 € X 1,467,994 1,455,034 12,960
& 75,840
= 1,392,154
BEAL2FX 1,238,710 1,287,350 N 48,640
201 LBt | 6,110 5,650 460
01 AP 22| H| 1,810 1,750 60
OB& g8 b2 H| 500,000& 500
OSsY SMAF NYGF=2HX g8 20
220,000 * 324 660
Os=289 ¢ g9 50,000& * 130H 650
03 A2 E H| 4,300 3,900 400
O==E &by stae 2 100,000 = 54 500
O8=d A &Hl 2dxs 2,500,000& 2,500
O=EEEH Let4==2H| 300,000& 300
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Os&Y AL & S2EEQ & Al &Al
50,000& = 204 1,000
301 LEHZ 1,232,600 1,281,700 A 49,100
01 MI2EZE 6= 1,231,400 1,280,400 A 49,000
O=8R34 Zd3 200,000 » 20% * 23| 8,000
ORI =< = 1,020,000
-6.258 8 =3It 100,000& * 260 * 123 312,000
-HEEEE RIS A
100,000& » 360 * 12& 432,000
-NEZERS 100,000&  80H » 12& 96,000
-HERINRS 50,000& = 300 = 12& 180,000
OENRIN MER=Z XS
300,000& = 609H 18,000
OSER3X =& =2 X=
150,000& = 20 = 12& 36,000
O34z7d s BE20d=+Y X= 149,400
-S4=z28 & 292 100,000& * 40 » 128 48,000
-E22X% 30,000& = 15Y » 12& 5,400
S48 & & 50,0003 x 160 » 128 96,000
12 JIEBHE4 S 1,200 900 300
SERSA 2E3 JIES
30,0003 * 20 * 23| 1,200
BEYRFA(ERX) 71,160 0 71,160
< 71,160
301 LEd = 71,160 0 71,160
< 71,160
01 Ml2ZE 6= 71,160 0 71,160
OFNRIA Hu=EXNRAL(6.25, HEY)
10,0008 * 503 * 122 71,160
< 71,160
SER3L4 2d=H XA 15,600 13,800 1,800
< 4,680
s 10,920
307 21201 A 15,600 13,800 1,800
= 4,680
s 10,920
01 222l 15,600 13,800 1,800
OSER3k ¥ |85 2=H X
600,000& = 269H 15,600
< 4,680
s 10,920
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11T A EXAIEEX 6,140 6, 140 0
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307 2I2t0| & 22,275 16,175 6,100
10 M SXNAEEHESIHEX 13,600 13,600 0
ONs2IK=3 294 A 13,600,000 13,600
11T A EXAIEEX 8,675 2,575 6,100
Od=z2d8%2EFs d™¥X=dd XN&A
2,575,000 2,575
ONSZ2ERE3 LA XS
6,100,000& 6,100
N=2Z0I¥og X 14,374 14,374 0
307 2Iz2to| & 14,374 14,374 0
10 MM SAANEEHESIGHEX 12,294 12,294 0
Odszd0|&els 24H A& 2,294,000 12,294
11 Al EXAIEEX 2,080 2,080 0
Od==z2d0I1&olg M&EX &= X
2,080,000& 2,080
f2LEX3 AH 12,245 12,245 0
307 QI2t0| & 12,245 12,245 0
0O AMISAANEHESIHEX 10,245 10,245 0
232 A3 294 XA 10,245,000& 10,245
11T A EXAIEEX 2,000 2,000 0
O224+2iNs dEX=d A& 2,000,000& 2,000
DHEMELRS A& 18,883 31,460 N12,577
307 2iztol A 18,883 31,460 N12,577
10 MM SAANEEHESIGHEX 16,483 16,060 423
ODNEMAERE 29Hl X& 16,483,000& 16,483
11 Al EXAIEEX 2,400 15,400 A 13,000
ONEMERE dAEX=d A& 2,400,000& 2,400
SgdMEAIS KR 31,120 17,120 14,000
307 2Iz2t0| & 31,120 17,120 14,000
10 M SXAAEEHESIGHEX 9,000 9,000 0
OgdgdadIts &9H XN 9,000,000& 9,000
11T A EXAIEEX 22,120 8,120 14,000
OEYNdEEIE XK= XN
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
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O2gdagda HEY AN =d
14,000, 000& 14,000
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6.2588 =St X 19,870 19,870 0
307 glz2+ol & 19,870 19,870 0
10 ALl SXAIEEE 2 H EX 15,700 15,700 0
O6.258 8 =3 X2 249H K& 15,700,000& 15,700
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O6.2588®7Z e &&=l K&
2,000,000& 2,000
O6.258 8733l UtAtE us
1,120,000& 1,120
O6.258 873 el SIS A K&
1,050,000& 1,050
S ZMESH 22,795,737 20,081,916 2,713,821
= 17,159,204
s 52,348
< 2,012,080
[ia 3,572,105
H L I=MHEEE 20,915,831 18,683, 167 2,232,664
= 15,762,000
< 1,901,310
e 3,252,521
MEEEY HRIH 14,520 14,520 0
201 L4l 3,000 3,000 0
01 At 2t 2l 3,000 3,000 0
OMEHE 92 222 HA U M+
3,000,000& 3,000
202 o4dl 11,520 11,520 0
01 = LH o4 1l 11,520 11,520 0
OMagZE ARFA ol 11,520,000& 11,520
ASIHAAH S HE0IF Xelg 62,209 65,192 A 2,983
101 14l 40,209 39,072 1,137
04 JI12ZtHZ22EaE = 40,209 39,072 1,137
OMESOAAXelE JI2tH 22X elAH] 40,209
=0 2,264,000 » 29 « 8 36,224




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

3,985

201

e
s
Mo
02

=

10,000

,000

01

>
10
=]
o

O
e
e

02

00 oM
Mo
0 0 02 4>

O O W
_>'|_|
o on

=

0r0
=

2,000,000

==
He
=
x

1,000,000&
7,000,000

v ou
o
=
Y

38l = X8l

L
0.

2,000
2,000
8,000
1,000
7,000

,000

,000

206 M= Hl

12,000

,200

A1,200

XMl MEHl +2
1,000,000& = 12&

12,000

12,000

,200

A1,200

M

646,250

517,000
129,250

,250

265,000

RURY

646,250

517,000
129,250

,250

265,000

646,250,000

HH

646,250

646,250

517,000
129,250

,250

A 65,000

dA=0 X2

HH A

,598, 366
,478,693
,559,837
,559,836

13,591,

349

2,007,017

MW

,598, 366
,478,693
,559,837
,559,836

13,591,

349

2,007,017

& 15,598,366, 000&

HoH W

,598,366
,598,366

,478,693
,559,837
,559,836

13,591,

349

2,007,017

FAHA=0 X2

HH W

,350,000
,680,000

335,000
335,000

3,125,

000

225,000

Mo H

2,750,000
2,200,000

275,000
275,000

2,525,

000

225,000

2,750,000,000&

H

,750,000

2,750,000
2,200,000

2,525,

000

225,000




2N
X ZH -
L= B

el

FoIXR D
=XIBEVE R
M W OIEMERE

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 275,000
= 275,000
307 2Iz2to| & 600,000 600,000 0
= 480,000
= 60,000
= 60,000
05 QIZ2tRE 2 600,000 600,000 0
Ox=:dKXNAY 600,000,000 600,000
= 480,000
= 60,000
= 60,000
ME=a=10:N =9I PSPSPIECD] 27,104 32,506 N5,402
308 XXIGHH SO0l & 27,104 32,506 N5, 402
08 W=Jl&otistE = 27,104 32,506 N5,402
(@FNE=2=10: 27,104,000 27,104
HAMEMZSH A 107,884 122,313 N 14,429
= 86,307
= 6,473
= 15,104
301 et M= 107,884 122,313 N 14,429
= 86,307
o= 6,473
= 15,104
01 Al E& A 252 107,884 122,313 N 14,429
OdlM&EH = K& 107,884,000 107,884
= 86,307
& 6,473
= 15,104
SZ=2WEYEIHIIZ2 ANBEEZ2(EAHZ2) 1,074,182 979,017 95,165
308 XX G SO0l A 1,074,182 979,017 95,165
07 AIXSHHZ2HESSZS 1,074,182 979,017 95,165
OAd=S=WELEIAHIIZ NZRES(EAH3)
1,074,182,000& 1,074,182
o220 23X XNIAE (A= SH22IAF 21248 X 34,316 39,520 N5,204
)
101 2121 d| 34,316 39,520 N5,204
03 2INHA22XNHE %= 34,316 39,520 N5,204
O9Z 2 HZCIAF C1AHI(Z2Hl F=It8) 34,316
-2FIHA 2 160,000& * 1 = 128 1,920
Dlgag
18,615,000 = 2% / 128 * 400% 12,410
IS (R 40,0008 ~ 18 * 128 480
-H I A 130,000& * 2% = 128 3,120
-nEY XH| 120,000 = 29 * 12& 2,880




SN EOIXE D
My 20| EMBEE
SC P - TESVENTE S (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
-2 A S| 600,000& * 2% «x 23| 2,400
-JFAH B2 | 505,000& = 2% = 6 6,060
-AXRa4+E 53,500 * 2 x 18Y 1,926
-2 SOar2 50,000& * 2 = 12&€ 1,200
-5 80,000& x 2¥ =« 12&€ 1,920
MASFOMESHMAL X 1,000 2,500 A 1,500
201 LBt ]| 1,000 2,500 A 1,500
01 AP 22| H| 1,000 2,500 A 1,500
OMgM L2 222 (SE)|BE2YLE ., B
AR ) 1,000, 000& 1,000
AHEHR & 1,879,906 1,398,749 481,157
= 1,397,204
= 52,348
= 110,770
= 319,584
NEZZ ALY 1,285,806 837,679 448 127
= 1,028,645
== 77,148
= 180,013
307 2Iz2to| A 1,285,806 837,679 448 127
= 1,028,645
= 77,148
= 180,013
10 M SXAAEEHESIGHEX 1,285,806 837,679 448 127
OXEZ2Z ALY 1,285,806,000& 1,285,806
= 1,028,645
= 77,148
= 180,013
INE= S = 62,076 88,777 N26,701
= 49,663
& 3,724
= 8,689
301 dEtE ™M= 62,076 88,777 N26,701
= 49,663
& 3,724
= 8,689
01 Al B & X 26 2 62,076 88,777 AN26,701
OXNEEAZ2 X 62,076,000 62,076
= 49,663
= 3,724
= 8,689
NETGELMH2EY XS 266,593 256, 100 10,493
= 186,615
= 79,978
307 212t0| ™ 266,593 256, 100 10,493
= 186,615
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
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NAXsdyH 43 X& 21,000 21,000 0
< 8,400
s 12,600
402 RIZ2HXt20l 21,000 0 21,000
< 8,400
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02 2IZt 2 AL EZ (OIS ) 21,000 0 21,000
OXEAIY &d3t =& ALEHl XI&
21,000,000& 21,000
< 8,400
[ia 12,600
SIS EFAMY XA (FLIISSHEI) 25,641 16,953 8,688
= 20,513
[ia 5,128
301 LA F 25,641 16,953 8,688
= 20,513
s 5,128
01 MEIBEE 263 25,641 16,953 8,688
O22s80l Y= =X =2 N (Y]
SEEI) 25,641,000& 25,641
= 20,513
[ia 5,128
SIS EEFMY KNI (ALISEEII) 68,046 51,457 16,589
= 55,798
< 12,248
301 LA S 68,046 51,457 16,589
= 55,798
< 12,248
01 MEIBEE 263 68,046 51,457 16,589
O22s80l U= =3k 2N (LI
SSEI) 68,046,000 68,046
= 55,798
< 12,248
SIYIIZSSHAY NI (HASYIISSE) 42,000 21,522 20,478
= 33,600
< 2,520
e 5,880
301 LEEXZ 42,000 21,522 20,478
= 33,600
< 2,520
e 5,880
01 MEIBEE 2053 42,000 21,522 20,478




AN FUAX B
My 20| EMBEE
chel: REX (29l & 2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oczs20 = =249 2420a (838
LIS SE) 42,000,000& 42,000
= 33,600
< 2,520
i 5,880
HFENSAHM XA 16,025 0 16,025
= 12,820
s 3,205
301 LEMZ 16,025 0 16,025
= 12,820
s 3,205
01 MI2EZE 06z 16,025 0 16,025
O22sY0l U= ==X 2N (BEN
EAR) 16,025, 000& 16,025
= 12,820
s 3,205
WSS EAE X 11,938 13,613 A1,675
= 9,550
[ia 2,388
301 LEd = 11,938 13,613 A1,675
= 9,550
s 2,388
01 Ml2EZE 6= 11,938 13,613 A1,675
O22s80l Y= =3 €2 NI (WL
2S%) 11,938,000& 11,938
= 9,550
s 2,388
KNS SE M MHIASF AL (OFAREYE 22 2t2] At 74,781 62,351 12,430
& Are)
as 52,348
< 6,730
e 15,703
308 XXM SO A 74,781 62,351 12,430
s 52,348
< 6,730
e 15,703
10 I 2 SOICHetE & X 2 E A HI 74,781 62,351 12,430
OJtAIZHE Y222l At XI& AL
74,781,000 74,781
s 52,348
< 6,730
[ia 15,703
SEXNATEHAEH SAL HRIMHL 6,000 6,000 0
307 glz2+ol & 6,000 6,000 0
11T MISXAS EX 6,000 6,000 0
OSEXNIXN&EME SAMAL HIMHLH
100,000& = 5% = 12& 6,000




AN FUAX B
g HAAS SAXNE
Sl BOHAUSNSA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FHAHES =XXNE 18,632,197 16,760,006 1,872,191
= 10,855,200
< 1,656,880
s 6,120,117
U =Xsa 18,632,197 16,760,006 1,872,191
= 10,855,200
< 1,656,880
s 6,120,117
ZO0He HRXHA 23,522 23,522 0
201 Let24d] 12,102 12,102 0
01 At 22/l 12,102 12,102 0
OFMHAHRZ=A LBt=EH| 700,000& 700
OXOMI XS EXIHE 1,100 = 2,6000H 2,860
ONSETREHD OIS 23448
4,000& = 5000H 2,000
OFMAXNSAEXN ReIEHILR M
1,000& = 1,5000H 1,500
OFMA=RIIE BISHI 3,220 = 1,1000H 3,542
ool RS &A= 1,000
-ZHOHQl BAH(ZOHQISl < EXIEOIS <A
HHM=CHa) 1,000, 000& 1,000
OAZZoHe HEXAEIA MEA 500,000& 500
202 Oddl 10,120 10,120 0
01 = LH 4 Hi 10,120 10,120 0
OFMHAXNHAE HRF=E Kbl 10, 120,000& 10,120
303 Z& 3 1,300 1,300 0
01 243 1,300 1,300 0
OSSZMHAMAE 2H720 2=2A A& 1,300
X R 300,000& * 22 M 600
-2 = 200,000 * 22 A 400
-& o 100,000& * 32 A 300
Foperelzdl X 119,201 103,070 16,131
= 95,361
< 16,688
s 7,152
308 A EHHSOIA 119,201 103,070 16,131
= 95,361
< 16,688
fia 7,152
1037/ 2S0HUHSBAEEALS I 119,201 103,070 16,131
O&oele=zdl XI& 119,201,000& 119,201
= 95,361
< 16,688
[ia 7,152




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

HH A

4,780
3,824
669
287

4,387

393

HH A

4,780
3.824
669
287

4,387

393

4,780,000&

U AT

4,780
4,780

3,824
669
287

4,387

393

oz
2
0z
H
0z
>
=
H
H0
02

Mo A

6,600

3,300
2,310
990

6,600

Mo H

6,600
3,300
2,310

990

6,600

O
>
T
an
0
2
e
[pal
m
=
He
oY

AtBl X1 &
6,600,000&

M

6,600

6,600
3,300
2,310

990

6,600

ool dXtel XNEAS (ML Rel)

Mo R

459,034
229,517

68,855
160,662

446,204

12,830

MW

458,034
229,017

68,705
160,312

446,204

11,830

04 DIt 22 XS+

OFoerLd el NAML(MLRLXtel)
458,034,000

HH W

458,034

458,034
229,017

68,705
160,312

446,204

11,830

Mo

1,000
500
150
350

1,000

01 AtR 2t 2l |

OZOH L Xtel Let===H

1,000,000&

1,000
1,000

1,000




2A: FUXE
HE: HUNE SXXE
Sl BOHAUSNSA CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 500
& 150
= 350
ZHOf eI Kt KIRAFS (AIZERIL Xt2]) 51,032 49,606 1,426
= 25,516
= 7,655
= 17,861
101 Q124 H| 51,032 49,606 1,426
= 25,516
o= 7,655
= 17,861
04 JI2ZtHIZ2 2 ANEE S 51,032 49,606 1,426
OZoI LTl KA (AZ2ERIL XH2l)
51,032,000 51,032
= 25,516
&< 7,655
= 17,861
Zofeld Kt KA (2XLR2) 150,510 140,452 10,058
= 75,255
== 22,577
= 52,678
307 2Iz2to| A 150,510 140,452 10,058
= 75,255
o= 22,577
= 52,678
11T AISIEXAIEEX 150,510 140,452 10,058
OFEHEY =X XelArdY 78,265,000 78,265
= 39,133
= 11,740
= 27,392
OExW=-SXNH9HE SXNLA2AS
72,245,000 72,245
= 36,122
=} 10,837
= 25,286
ZOHAHF=AIE SHEXSE 7,650,018 6,772,608 877,410
= 5,355,013
= 688,501
= 1,606,504
301 dEtE M =2 7,650,018 6,772,608 877,410
= 5,355,013
& 688,501
= 1,606,504
01 Al B & A 462 7,650,018 6,772,608 877,410
OFMAHAFTAE 2 HA& 7,650,018,000& 7,650,018
= 5,355,013
& 688,501
= 1,606,504




SN EOIXE D
HE: NS =X
ool HYU=NSA EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O AF=AIE HAE 2oHEH 5 X& 4,522 4,620 A 98
< 1,809
s 2,713
301 LEd = 4,522 4,620 A 98
< 1,809
s 2,713
01 Ml2ZHE 6= 4,522 4,620 A 98
OFMUANFAE B4A4E 2HEH S N
4,522,000 4,522
< 1,809
s 2,713
ZOHAH=AAE EaX UNHEEEHSZ X 30,000 24,000 6,000
< 12,000
s 18,000
301 LA F 30,000 24,000 6,000
< 12,000
[ia 18,000
01 MI2ZE 6= 30,000 24,000 6,000
OZOMANFAILE AKX NEHAS XS
30,000,000 30,000
< 12,000
[ia 18,000
ZOoHC XIGAtS THEAME 2F (XHAl) 2,111,895 2,017,381 94,514
307 21201 A 2,021,895 1,957,181 64,714
05 RIZt2lEt = 1,405,709 1,365, 142 40,567
OFMII=ZXNJAHEH 29l 165,233, 000& 165,233
OAlzZ Zoe=sxz 24 1,240,476,000& 1,240,476
10 M2 SXNANEHE2IHEX 616,186 592,039 24,147
OFUESANE 29 144,233,000& 144,233
OZOQ MHIMH=SXSALE 23
134,094, 0003 134,094
OZOQ MEOISKNIME 23
337,859,000 337,859
401 Al HIZ 201 I 90,000 1,900 88,100
01 A& HI 90,000 1,900 88,100
OZOMASX 2 =XE =HF3 A 90,000,000 90,000
Hel2dg ZoHelA=AE X& 126,650 72,940 53,710
= 25,330
e 101,320
307 glz2+ol & 126,650 72,940 53,710
< 25,330
e 101,320
10 ALSISEXAIEEE2EHEX 126,650 72,940 53,710




SN EOIXE D
HE: NS =X
Sl BOHAUSNSA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMe2d HMAANFAE X
126,650, 000& 126,650
< 25,330
s 101,320
O X 102,816 100,947 1,869
307 gl2tol & 102,816 100,947 1,869
10 AL SXNAIEEE2EHEX 66,316 64,747 1,569
OFHelHE s 29l 66,316,000 66,316
11T MISRASEX 36,500 36,200 300
OHMHAHAIE = 36,500
-ZoHele ¢ 10,000, 000& 10,000
—EXEOI2 ¢ A X SEHHE
8,000,000& 8,000
-S4z Zoel AAK 4,800,000 4,800
-Z0He RSB EL 500,000& 500
8= AMEOHL M 1,000,000 1,000
8= DSEMY NEX Hal 1,000, 000& 1,000
-5 Foel J1sd0 U3l 3,000,000& 3,000
-—USEM MSEMA ® AFEH BFUI
700,000& 700
-2 S ML EMUHOI2EZ I W3
500,000& 500
A2 BRERE ¥ HFAUS
7,000,000& 7,000
F=H20 XN (s0HE ZOHQ FEHIMEAL) 38,000 38,000 0
= 19,000
< 13,300
e 5,700
307 glz2+ol & 38,000 38,000 0
= 19,000
< 13,300
e 5,700
05 RIZt2IEt = 38,000 38,000 0
OFAHS0W XN (SHEZOHQIFEINZALY)
38,000,000& 38,000
= 19,000
< 13,300
s 5,700
Zojel A22&8= X 23,808 23,808 0
301 LBEXS 23,808 23,808 0
01 MEIBEE05l= 23,808 23,808 0
OMAasZe 22282 XA
1,984,000& * 128 23,808
LEHMEAEA TR 345,600 324,000 21,600
= 241,920




2N
X ZH -
L= B

el

Off &t 24

=

i
2m

M

31,104
72,576

308 MHXIHHMS0OIH

MW

345,600
241,920
31,104
72,576

324,000

21,600

A& 345,600,000&

MW

345,600

345,600
241,920
31,104
72,576

324,000

21,600

EURL Y

4,451,565
3,116,095
400,641
934,829

4,753,699

A 302,134

301 LEIEN S

Mo

4,451,565
3,116,095
400,641
934,829

4,753,699

A 302,134

A& 4,451,565,000&

Mo R

4,451,565

4,451,565
3,116,095
400,641
934,829

4,753,699

A 302,134

Mo R

391,951
274,365
82,310
35,276

294,144

97,807

MR

391,951
274,365
82,310
35,276

294,144

97,807

OFM+==(Ix) 391,951,000&

H A

391,951

391,951
274,365
82,310
35,276

294,144

97,807

A

207,623
145,336
43,601
18,686

233,573

N 25,950

Mo A

207,623
145,336
43,601
18,686

233,573

A 25,950

OTM=Z(Xa=s) 207,623,000&

207,623
207,623

233,573

A 25,950




SN FX
Ha: F o
el Zoje

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

145,336
43,601
18,686

Mo

A2

o

PRI JDtAXIS XHED| XT3 ALY 1,200 1,200 0
600
600

Mo

307 21201 & 1,200 1,200 0
600
600

EUNL

ARSI S XA E X 1,200 1,200 0
OAZZOHRIILE JtAXRSSHRED] XI& ALY

1,200,000 1,200

600

600

zal

UL

o esENE 1,185,525 797,488 388,037
829,868
71,131
284,526

MR

308 MHXItHMS0IH 1,185,525 797,488 388,037
829,868

71,131
284,526

M A

3 GicHetZ & A AE AL 1,185,525 797,488 388,037
OFE=sXd HE(2sXd3H)

1,185,525,000& 1,185,525
829,868

71,131
284,526

HH A

o
ol
0
2
k=
e
o
T
iy

r

FIOHXE 15,000 18,662 A 3,662

4,500
10,500

UL

308 MHXItHMS0H 15,000 18,662 A3,662

4,500
10,500

EUNE

GicHetZ & A AE AL I 15,000 18,662 A3,662
JHXIE 15,000,000 15,000

4,500
10,500

Mo

e ALSTESAS 10,000 10,000 0

4,000
6,000

M H

307 21201 A 10,000 10,000 0
4,000
6,000

VR

1A S XA E = 10,000 10,000 0
OFfe ALSIESAHY 10,000,000& 10,000
4,000

121

t




SN EOIXE D
HE: NS =X
Sl BOHAUSNSA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| o 6,000
ZOHULLUSHFIXNALEH 2 66,430 68,160 A1,730
< 26,572
s 39,858
307 gl2tol & 66,430 68,160 21,730
< 26,572
s 39,858
10 ALl SXAIEEE2EH EX 66,430 68, 160 A 1,730
OFMHALLUASHFIXNALEH 29
66,430,000 66,430
S 26,572
s 39,858
HOQIEHOAEX J=X2MH 2 45,824 43,300 2,524
307 21201 A 45,824 43,300 2,524
11T AL S XA E = 45,824 43,300 2,524
OXHABEHASAI=XNALEH 2Y
45,824,000 45,824
G EZOHCIDIALE R 0IALY 30,000 30,000 0
307 21201 A 30,000 30,000 0
11T MISXASEEX 30,000 30,000 0
OW&EZEOC JIAIER0l AL 30,000,000& 30,000
HEZHML XA (HEHMHASAHIE) 2,000 3,000 1,000
= 1,400
< 180
s 420
301 LEHZ 2,000 3,000 A 1,000
= 1,400
< 180
s 420
01 MI2EZE 06z 2,000 3,000 A1,000
O&ZHel E4HIE XA 2,000,000& 2,000
= 1,400
< 180
[ia 420
HEZMHANEAY 43,860 40,517 3,343
= 30,702
< 5,263
i 7,895
307 21201 A 43,860 40,517 3,343
= 30,702
< 5,263
e 7,895
11T MISAASEX 43,860 40,517 3,343
O WEX A 43,860,000 43,860
= 30,702




AN =X 0
Ha: FHUNE =XXE
ool FU=NSA CER-ED
= - — SHE|
SN EE B (BH) - HRAY - BES Gl Hl D= 2t
Ol & o
< 5,263
s 7,895
o= 24 44,063 41,677 2,386
307 gl2tol & 44,063 41,677 2,386
10 AL SXNAIEEE2EH EX 44,063 41,677 2,386
OFfeI=R2 2FXA 44,063,000 44,063
IR Alelad X3 960 960 0
=2 672
< 86
i 202
308 XXM SO0 A 960 960 0
= 672
< 86
i 202
10 B2 S0 B&HAE A 960 960 0
OLETMHURR delad X 960,000 960
=2 672
< 86
s 202
ST NSHEHH 29 120,000 90,000 30,000
= 48,000
[ia 72,000
307 21201 A 120,000 90,000 30,000
< 48,000
s 72,000
11T M3 SXAISEEX 120,000 90,000 30,000
OZZHMHO NHPMBHE 29
120,000, 000& 120,000
< 48,000
i 72,000
ZOHAAN=AIE D22 195,300 14,850 180,450
= 97,650
< 29,295
[ia 68,355
402 RI2HXt20l ™ 195,300 14,850 180,450
= 97,650
< 29,295
s 68,355
02 2IZt X2 AL EZ (OIS ) 195,300 14,850 180,450
OBOMAUANFAIL JISsEZ 195,300, 000& 195,300
= 97,650
= 29,295
i 68,355
L2222 AR THAAEAY 35,416 29,783 5,633
< 10,561
s 24,855




SN FX
Ha: F o
el Zoje

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

307 21201 & 35,416 29,783 5,633

10,561
24,855

EUNL

AR S XA 35,416 29,783 5,633
)

ES
OLEHMAZZNASAN A THAASE AL
35,416,000& 35,416
10,561
24,855

M

gL F2AESAHHAXE 282,144 45,408 236,736
197,500
16,929
67,715

MW

308 MHXIHMS0OH 282,144 45,408 236,736
197,500
16,929
67,715

MW

GiCHet Z &R AE AL HI 282,144 45,408 236,736

282,144,000& 282,144
197,500
16,929
67,715

MR

g
o
0zt
2
e
0F
S|
00
i
0
x
=
1>

167,300 54,720 102,580
110,110

9,438
37,752

Mo A

308 MHXItHMSOH 167,300 54,720 102,580
110,110

9,438
37,752

HH A

GicHEet Z & XA AE AL HI 157,300 54,720 102,580

157,300,000& 157,300
110,110

9,438
37,752

MW

SHOMHAE K& ALY 30,000 0 30,000

307 21201 & 30,000 0 30,000

1A SXAIE 2 = 30,000 0 30,000
OR&UMAIE XNE A 30,000,000 30,000

X

Y

AMSIEO ZEHH A 5,388 0 5,388
1,616
3,772

UL

307 21201 & 5,388 0 5,388

1,616
3,772

M




AN FUAX B
HE: NS =X
Sl BOHAUSNSA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 5,388 0 5,388
OXNSNECIAMNIETHLLHOMH AESHIA
5,388,000 5,388
< 1,616
e 3,772
FOHAANF=AIE SIIEEI N 4,660 0 4,660
= 2,796
< 559
s 1,305
307 glz2tol & 4,660 0 4,660
= 2,796
< 559
s 1,305
11T M ZXALSE EX 4,660 0 4,660
OZOMANFAIE SINEEI HEXH
4,660,000 4,660
= 2,796
< 559
e 1,305
ZHABEFIAAE AN 2CIAIAE &X 22,000 0 22,000
405 XHobF S HI 22,000 0 22,000
01 AL ESFH S 22,000 0 22,000
OZMAMEFI A AL S 2| AIAE &X
22,000,000& 22,000
N DI AMISE LRI ALY 33,600 0 33,600
< 10,080
[ia 23,520
301 LA F 33,600 0 33,600
< 10,080
= 23,520
MARId 283 33,600 0 33,600
OZOHQ - IS dUXSHLTCIAY
33,600,000 33,600
< 10,080
s 23,520
S AOC GPS IXIEX ZHIXH 2,400 0 2,400
< 720
s 1,680
301 LA F 2,400 0 2,400
< 720
[ia 1,680
01 AR 2Z A5 3 2,400 0 2,400
OLG T GPS RIXIEX HHIXISH
2,400,000 2,400
< 720
s 1,680




AR = PRI
M =23 33 N
@ U2 HE X

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=zs 23 & 705,422 547,736 157,686
J| 262,297
= 121,609
s 321,516
=23 I8 XA 658,822 501,336 157,486
J| 262,297
= 118,329
s 278,196
G2t =EX& 43,508 18, 164 25,344
307 21201 A 36,308 18, 164 18,144
11T ALSI S XAEE X 36,308 18, 164 18,144
OHAINFUZaII=EXNEH 28 XA 13,188
-HIIe3(84.3E) XN
1,000,000& * 12& 12,000
-ad OHNMEH 2 1,188,000 1,188
OU=23It=E S0t XA 10,000, 000& 10,000
OU=23IE Y2XNEM2E X
60,000& * 6% = 128 4,320
OANHELLRNEZAL 29 XA
150,000& = 1H » 12& 1,800
Ogotet EMdts osHne 249 X
5,000,000& 5,000
OUEIs& LissSAtE 29 2,000,000& 2,000
402 RI2EXt20l ™ 7,200 0 7,200
01 RIZt Xt 2 AL E = (REM &) 7,200 0 7,200
OALUINFURSIIEXNJA M HYEH 25 7,200
-EFH,2UH, =8I0 7L
1,200,000& = 6CH 7,200
22018 2 O23ts NJHH 22 251,300 147,500 103,800
J| 125,650
< 37,695
[ia 87,955
307 21201 A 251,300 147,500 103,800
J| 125,650
< 37,695
s 87,955
10 ALl SXNAIEEE2EHEX 251,300 147,500 103,800
OxdId 9 LIS NEXNJAHH 29
251,300,000 251,300
J| 125,650
< 37,695
s 87,955
CHRSIEXNEMEH SAL H2M () 7,200 7,200 0
< 2,880
s 4,320




SN FOIXE D
A =23 M XA
¢ U238 tE X CEE-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 7,200 7,200 0
< 2,880
s 4,320
11T M SXASE EX 7,200 7,200 0
OUR2SItEXNJAMAEH SALA &I 7,200
“KNSHEH SAA 7,200,000 7,200
= 2,880
s 4,320
Z2E0F0HE XN3AAEY 10,000 13,278 AN3,278
307 21201 A 10,000 13,278 23,278
11T A SXAEE = 10,000 13,278 A3,278
OZE0l=04d el HdE XI& 5,000,000 5,000
OZE0F=0E HelAEBNASHS N
5,000,000& 5,000
HEINSHY FAS NMUIA XA 20,000 20,000 0
< 10,000
s 10,000
307 glz2tol & 20,000 20,000 0
< 10,000
s 10,000
11T M SXAIS EX 20,000 20,000 0
Od=lIs4g FAS HMHlA 20,000,000& 20,000
< 10,000
s 10,000
SHAT AL K& 53,520 53,520 0
< 26,760
i 26,760
307 21201 A 53,520 53,520 0
< 26,760
e 26,760
11T MISXASEX 53,520 53,520 0
OSEHAXEA XA 53,520,000 53,520
< 26,760
i 26,760
Ct23t0tE SatAtY 270,304 182,212 88,092
J| 135,152
< 40,546
[ia 94,606
307 21201 A 270,304 182,212 88,092
J| 135,152
< 40,546
[ia 94,606
11 AS S RAEE = 270,304 182,212 88,092
OY=2XE At XA 130,992, 000& 130,992
J| 65,496




SA: FOX
dH: 23
¢l Oz 3

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M

2Hm
==
£l
Ol
0y

19,649
45,847
OO0l Z A X1 & 28,325,000& 28,325
14,162
4,249
9,914
OAtell2el At X & 30,649,000 30,649
15,325
4,597
10,727
osgd X3 27,509,000& 27,509
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